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1. Inarowof boys, Kapil is eighth from the right
and Nikunj is twelfth from the left. When
Kapil and Nikunj interchange positions, Nikunj
becomes twenty first from the left, Which of

Thifc;licwjng will be Kapil's position from the i S
right
st
(A} 21% EA; ;::1
(B) sth B
(C) Cannot be determined (C) fAyffg el feran =11 E@=al
(D) 17th 7{,0} 17"

2. we @l aik fig W @ HH-H =

2. Which cyclones originate over the Bay of Bengal

and the Indian Ocean ? IO EAE ?

(A) Western cyclones (A} Tl _E L

(B) Tropical cyclones (afmﬁa%ﬂa eERIN
(C) Eastern cyclones (C) it =T

(D} Temperate cyclones (D) GefterseT e

E:‘;-:f;'%
o'y
OkCA0] 3.

3. =R 371A % ded [ sy ==t fean Under Article 371A, special status was accorded to

hieTEC) i
(A) =TT (B) 3TovITEE Wom (A) Telangana (B} Arunachal Pradesh
(¢f ArmTete (D) mforge (C) Nagaland (D} Manipur

4. & TR ) G IR 2
(A) 3113 I gl Ui | wetfean i ey
(B) 31a I g Trdi H ugy i Vo
(C) 3113 It gl =gl 1 #Fifae-19 &) Trurg

4. Project Sunrise of Central Gavernment is
(A) Prevention of Malaria in eight North
Eastern States
(B) Prevention of AIDS in eight North
Eastern States
(C) Prevention of COVID-19 in eight North
Eastern States

(D) None of the above (D) ST 5 | 13 78]
5. — Isithe nur;ber of times per 5. i S f=n R T
second the pixels are recharged so that their Gl : RECa k=
glow remains bright. LT Gilbu
(A} Refresh rate (B) Resolution (A) femm 2 (B) e
(C) Pixel rate (D) Bit depth (ef fomder = (D) forz e
6. 6412+ 415=647 6. 6412+ 415= 647
(A) 12 {B) 9 (A) 12 (B) 9 ;
(c) 7 () 3 (c) 7 (D) 3 R
7. WTO was founded in 7.  WTO = Tumq Hg | ORAD)
(C) 2005 (D} 1947 (C) 2005 (D) 1947
8. Catla fishes are 8. e Hefagl &
(A) Surface feeders  (B) Bottom feeders (A) Hist =
(C) Feed at all ievel (D) Middle feeders [c]"ﬁﬁﬁq{;ﬁg( :g: qu
2.
(x> 3)
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9, Aman ranks eleventh in class
What will be his rank from
(A) 35
(C) 37

What is Canthrophily ?
(A) Pollination by bats
(B) Pollination by beetles
(C) Pollination by snails
(D) Pollination by birds

of forty four,
the last ?

(B) 33
(D) 34

10.

11.  Consider the following statements about

President of India.

l. President is the Head

Il. President exercises nnl\? :H;lr.:si r?;?t%wer
Choose the correct option Eiven belmnf =
(A) Both the statements [ and Il are correct
(B) Only the statement Il is correct
(C) Only the statement | is correct
(D} None of the above

12.  Body with pores and canals in walls is present in

(A) Amelida (B) Annelida
(C) Porifera (D) Ctenophora

13. 1f12276 + 1.55 = 7920, the value of
122.76 = 155is
(A} 79.02

(C) 75.2

(B} 7.92
(D} 7.092

14. The Kolkhoz is a collective farming meodel
introduced in
(A} China

(C}) Cuba

{B) USA
(D) Russia

15. If the word MENTAL is written as

LNDFMOSUZBKM, then how would the word
TEST be written in that code ?

(A) SUDFQRSM (B) UVFGTIIV-

(C) RSCDQRRS (D) SUDFRTSU

____is an extremely high-speed,
low-cost process, which records computer
generated information directly from the
computer tape or cartridge to 2 miniaturized
microfilm media.

(A} Character Output Microfilm

{B) Computer Output Mi-::raﬁlrn

(C) Character Oriented Microfilm

(D) Computer Oriented mMicrofilm
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9. 44w ) vk Fed H 30 119 waE w2, sifam
B ue o @ w01 7

(A) 35 (B) 33
(C) 37 0] 734
10. Feilforeh am 2 7
(& =g S GRT W
(B} 571 g1 T
(C) =i g
(D) Tiéwri gy
11.  a ey F a1 Fefahas s o fmm
. T4 F B |
I, Tl e A i wfwE w aEn =
A1t few o wé farey w1 wa
BER  (A) Hy | 3 1 g1 ad §
"@%"ﬁ 4B ad T 11 FE B
' (C) aet Y= | 9E) &
(D) 390 & & F13 7l
12, yilR A fsEl ofi ared § S g g 2
(A) smferer (B) wAferar
(c) uifcsa (D) AR
13. afd 12276 + 1.55 = 7920, 7 122.76 ~ 15.5 F1
aH B
) 79.02 (B) 7.92
C) 79.2 4P) 7092

14. SIEEN UF Tfesw $H oz & @ H
o fFFmr T @ o™
(A) =
(C) ==

15. i MENTAL 3152 F1 LNDFMOSUZBKM forat s
&, 30 e ¥ TEST v A 3R v e P

(A) SUDFQRSM
_€) RSCDQRRS

U AT e, FreE-wmg
s 2, S e wifa qae ) yeaa: s
| Y FRAE W T SR AEEfEen it Q
sfvreifiad e & |
{A}WWWW
(Bj’mugtmaf_ganﬁa?rﬁﬁ:q
AC) FF e mrgifien
(D) I HfEeE AIfEey
}:’,‘4&'1'[' "7__1’_5’._.5:

,_...--TE'. ]ﬂ"‘

(B) ¥uHT
(D) ®H

(B) UVFGTIIV E%E
(D) SUDFRTSU

16.
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25,

26.

27.
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Who among the following Indian sang the
historic song of peace and hope at 1966

United Nations General Assembly (UNGA) ?
(A) Asha Bhosle

(B) M. S. Subbulakshmi
(C) Lata Mangeshkar
(D) None of the abaove

Name the single comprehensive indirect tax
Operational from 2017 on supply of

(A) Excise Duties (B) Custom Duties
(C) Goods and Service Tax (D} Value Added Tax

The H.C.F. of [x? - ax - (a+1)] and
[ax? - x - la+1))is

(A) (x+a+1) (B) {x+1)
(C) (x-a~-1) (D) (x-1)

The first Non-Aligned Summit was held in

(A} Bangalore

(B) Belgrade
(C) Dhaka

(D) Delhi

provides a path to transfer data
between CPU angd memory.
(A} Control bus (B} Address bus

(C) Data bus (D) None of the 3bove

(A) Cows (B) PRigs
(C) Donkeys (D) Dogs

22. Nipah virus spreads to humans by %
=]

The major constituent amon
(A) Methane
(C) Nitrogen

g atmospheric gas is
(B) Oxygen
(D) Carbon Dioxide

Which number will come in the place of
question mark ?

1,5,17,53, 161, ?

(A) 482 'gel 479

(C) 485 D) 481

RBCs in frog are

(A) Nucleated {B) Enucleated
(C) Trifid (D) Bifid

Pankaj Advani has grabbed his

World title by winning IBSF 6-Red Snooker
World Cup.

(A) 23 B) 21%
(C) 24th D) 22

Double fertilization is a rule of which plants 7
(A) Pteridophytes (B) Bryophytes
(C) Angiosperms (D) Fungi

. o wETel
3 sg :
- .gi{lgaﬁ ﬁgm%qﬂ?ﬁuﬁwﬁm
e i T
E:q} aran

M/;m TH. U, W&Iﬁ

18, 20173 uRaTer H TRTT ST SR Fr

19. [x2-ax—(a+1)] R [ax? —x—(a + 1)) %y

FAE i
(A) (x+a+1) 8) (x+1) £
(C} (x—a-1) (D) (x-1)

20, e Tee et e el o
T Y
(A) Freii (B) seris
(CF &1 (D) feeed

5 i sl ARG F e 5

TR0 Y U 9o ST THrdm £ |

(A) e 79 AB) TgH =W

(C) s =m (D) 39U H @ =k
22. foor b B S i
(A) ﬁﬁﬂw AB) g3
(c) & (D) ¥
23. Sl A 3 oo 2
(A) Higm i

(By 3iadiem
(C) g (D) el TR
24. 5T o o T e
1,5,17, 53, 161, ?ﬁq Sl e

25, ﬂ{aelnﬁ RBC B &
A) &= NI
fCl efre (B

D) =S

26. GRS IMTAN I ayqey o faga fo
'ESFE&EEE“%WWH%WET&HW'

(A) 23rd

(G} 24t [‘,_f'ji ;;:s
22 Tmﬁmﬁ‘ﬁm%% ?
(€) et s Sl
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28. The position of how many letters i
BRAKES remain unchanged Whelr? me word
arranged in alphabetical order 7 ey are

I:A} Two {B] None
[’C}l Three {D] One

29, Structure of XeF is
(A) Distorted octahedral
(B) Square bipyramidal
(C) Distorted square planar
(D) Square planar

30. The average of 5 consecutive
numbers is n. If the next two numbers are also
included, the average of the 7 numbers will
(A} remain the same  (B) increase by 2
(C) increas_grby 1.4 (D) increase by 1

31. must be refreshed continually to
store information, otherwise it will lose what
it is holding. A
(A} Double Data Rate Synchronous Dynamic
Random Access Memory (DDR-SDRAM)
(B) Dynamic Random Access Memory

(DRAM)
(C) Synchronous Dynamic Random Access

Memory (SDRAM) :
(D) Static Random Access Memaory {SRAM)

32, Consider the following statements about
World Trade Organization (WTO).

l. The World Trade Organization (WTO) is the
only Global International Organization dealing
with the rules of trade between nations.

Il. Afghanistan joined the WTO on 29 July
as its 164" member.

E : - -
)’? Choose the correct option given below.
Ei%W (A) Both the statements | and Il are correct

(B) The statement Il is correct
(C) The statement | is correct
(D) None of the above

3. Digital signature are based on _——

cryptography. _

(A) Shared-key (B) Privatel;eke'f

(C) Internal-key (D) Publickey -
34.  Inflation target to be set by the Gauemm%g n?c,

India, in carg}sultatiun w;tﬁ the SFESEWE

Once every ~_years.

& i

C)1 D) 4
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28, wise BRAKES i e 2ierl ) feufa 378 avrigsa
i sperfoer w0 vt srTiafda w7

(A) & (B) &g el
T B TR S

(c) i . 4B ‘6,]‘2 oy ¢ f;.
29.  Xef ) dra @ 1 4o € E

(A) Frga sV ho w5

(8) i faffird 285 L

(cy e = Hweret Y

(D) &) wHEe

5 i Tl & 30ad n 2 | 3R et @
denail ) g G s, | 7 @i & A
(A) @O T (B) 2 % ST
&] 1.4 =g STE (D) 147 <

F) TEn ke & A e
2, i g e R, 31=141 75 34 1 &M
707 gr TR B |
(A). Seret 2T Y2 hh T tven v
Thlt (DDR-SDRAM)
(B) EraAfie trsA UagE UH{ (DRAM)
J£) frig st tven taew Aud
(SDRAM)
(D) w2fewr tvem Ywgy Audl (SRAM)
. T i M) FaRA
R
o} =1 Ao AT 2
11, ST 164 3 Tae % w9 20 JaH
=1 g saran e § e g3 |
19 fou U we Frerey @ W
) o | 3t 1) 3 T E
(B) %Y || FE ©

(C) T 1 5El B
(D) Judi # A =IE el

33, fefeafdme__

B
(A) -
(C) 3TTaieh-Hl

20,

31.

i ot snufa
fsh -t
/fg; AW -

. wfa 4 # uw an fed ¥ F o
o Wﬁﬁmm%ﬁﬁ?ﬁ&?ﬁfﬁﬁmél
5

%@ (A) 3
4o

(C) 1 (D) 4

w
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35.  Which of the following is @ detrivorous ?

(B) Earthworm
(D) Cockroach

{A)} Honey bee
(C) Ascaris

A is thrice as good a workman as B and '.5'
therefore, able to finish a piece of work In
60 days less than B. The time (in days) in which
they can do it working together is

(A) 23 days (B) 22 days

36.

1 1
() 237 days (D) 223 days

37.  Which of the following administrative subject

is not mentioned in Union List of the Indian
(B) Defence

Constitution ? [géﬁl
i
(D) Police Seselel

(A) Banking
(C) Foreign Affairs

What was the Government {india) expenditure
on education as a percentage of GDP in the
year 1951-52 7
(A) 0.64%

(C) 4.20%

38.

(B} 2.18%
(D) None of the above

39. The productivity and distribution of

plants is heavily dependent on
(A) Water (B) Temperature
(C) Soil (D} Light

40. Anger:Rage::Moist:?
(A) Sad

(C) Dry

(B} Burn
(D) Drench

41. Human body temperature being

suited for enzyme catalysed reactions.
(A) 360K (B) 273K
(C) 310K (D) 290K

IAEA widely known as the world's

(A) Atoms for Power and Drugs

(B) Atoms for Peace and Development
BPE  (C) Atoms for Piece and Download
AR (D) Atoms for Pace and Destruction

43,

42.

The word Internet is derived from two words
(A) Interface and networks

(B) Inter communication and networks

(C) Internal and networks

(D) Inter connection and networks

44. A small rise in prices or a sudden rise in
prices is not a

{A) Hyper deflation (B) Inflation

FaHA-al
38, eefafEd

37.

38.

A7) 0.64% (B) 2.18% _
(C) 4.20% (D) IHIT & & {7

qredl & SwrEd@ R e R w9
w et |

_{B) dTHH

(D) Wl

39.

(A)
(€) &

Ry L | S

() 3@ (B) Sterl

A8 T 4D) =ton

Gwmgn ekt wfifn ¥ forg sugea wHE N
AT & S8 T
(A) 360 K (B) 273K

(C) 310K (D) 290K
IAEA =Rl =TT &9 § freg a1
WA TR i sitafeet 3 g womm
2AB) T 3 forshrer % R wowmoy

(C) gFET 3 STete ¥ Ty oy
(D) ﬂﬁaﬁtﬁw%mm
43, %% THE W Y=

() er otk Yered _ Qg gl
(C) TEH 3R Jegad

aa.
T T T S o e et

41,

a2, it

(C) Paraflation (D) Deflation

_ai'ﬁ_:rﬁ%‘
/&2’, RERY (B) TEHIf
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45. Who published the Newspaper et
(A) Joseph Garibg|qg; Isorgimento’ 7
(B) Joseph Mazzin;
(C) Victor Emmanuel -
(D) Count De-Cayoyr

46. A jar full of Whisky contains 40%
(]

A part of this whijsky
containing 19%a|cohg| ;sn(rieplaced by another
of alcohol was found to be

whisky replaced is
(A)

(C)

vlww|n

(D)

An officer known as Assistant Commandant or
a Subedar, is equivalent in rank to a

(A) Deputy Superintendent of Police

(B) Commissioner

(C) Inspector General of Police

(D) Superintendent of Police

41,

In this question, two statements are given
followed by two conclusions, choose the
conclusion(s) which best fit(s) logically.

Statements :
1. All pen are pencils.
2. All books are pen.
Conclusions :
I. Some books are pens.
Il Some pencils are books. :
_(A) Neither conclusion | nor Il follows

(B) Only conclusion Il follows
(C) Both conclusions | and |l follow

(D) Only conclusion | follows

49, Ssocialization helps people

A) Both (B) and (D) ial
((B; To function successfully in thelrsoc
worlds petween

(C) To know the difference
introverts and extrovert et
(D) To adopt beliefs, values lan
represent its non-mateé

273

CMMS - 51

) s Afsel
(C) fererex waT T ~ Il
(D) 13 d-FEN
46. f%ﬁﬁﬁaﬂqasauﬁw%ma%lwﬁﬁﬁ
awmﬁ@ﬁmﬁmm%ﬁ@(w%
SeiEel o1 3N 37 ITTHE H AT 26 I
Wlmmﬁ%@ﬁm% 100*""'(0
A 2 (8) 2 A
i3 5 14
3 1
(C) 5 (D) =
47. TEAE FHIEE A TF AR FedM Il TH
el FURFHAIFATATE |
G (A) 39 gfera areftersh
= (B) ST
(). gfera meT fltersh
(D) gfera arefters

48, za 9 3, A wed ey e & fmss =1e 3t fred feg
e | 3 Fred gie S aifhe 9 @ g @S
d3dE | o
HYUT = @2/“‘

il Hﬁmgl @

2. avft |

ﬁw:gﬁm s @@

I, |

u.wﬁﬁﬁ«[&gﬁ%%\x

) 7 5t frsshd |7 & 1| TR T ”

) sherdl frshy || STFETO AT @

(C) art frhd | I 11 g i &

(D) hae e | STETT el &
49, TUSIHUI@iA AW Qe |

(A) (B) S (D)THT

&B)aa:q;mmmﬁmmﬁqmt[&mmm

(C) ﬂﬂﬂ@’faﬂwﬁé@%iﬁaﬁmaﬂ?{%m
(D) 37 faxamt, Yol 31 AHES! ! S9N
7 o fore < sereht - e St 1
gfafAfered &t &
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fenfeiat < e H 12 3 ofish
50. Ina class of 40 students, 12 enrolled for both 50. éoﬁ‘ﬂ Ejﬁq T | D Yo a;&ﬂé‘;]ﬁq ?ﬁ‘-ﬁ
English and German. 22 enrolled for German. f afe e 3 Trentet 1 Trie @) ;gm
the students of the class enrolled for at least one fepar | S ¥ T BT 2@ R
of the two subjects, then how many students q A Th <iL.§ %;Tl gﬁwﬁ%ﬁ
enrolled for only English and not German ? Fael 37Uyl o foTe AR , %ﬁm:ﬁgf?
(A) 18 (B) 30 (A) 18 (B) 30
(C) 28 (D) 10 (C) 28 (D) 10
51. '}:he —_is the portion of window that 51, i) &l 98 W 2 SIECLIEECR
Z'ds the web page present in the current tab. Jufeerd e U1 <Rl U1 Al E ;
(C1 Statu<:; Bar (B) Command Bar AA) LS (B) HHTE IR
(C) Favorites Bar (D) Content Area (C) $afted o (D) ez Tfen
- y g .
22‘5:-; t'r;‘e correct mirror image of the given | 52, @l T arrehf 1 B qdur widfers EELECEEUE
when the mirror is placed at line AB. G AB T @1 ST 2
HU / N
| MA
N
A B
ATRIRRNRR B
(A) :\:. | (B) oy A ut
s Wy (A) iy (B)
| NH HN it
NH
(C) . T8
wy | (D) @ o (D)
HN o
53. In which district of Haryana Maharana Pratap 53. giEmm I weron
Horticultural University located ? : ﬁﬁﬁmﬁq%ﬁr%ﬁ:ﬁ : "R
(A) Karnal (B) Hisar AR) T : famr
(C) Bhiwani (D) Gurugram (C) ((g; Ty
54. To resolve the growing problem of 5 TSI STl : Tt st
Non-Performing Assets (NPAs), or loans on v A £ 2 %NWPAs)mémﬁqq'(g l
which borrowers have defaulted, kS ; SRR SR ferg
is set up. iﬁEIIIIIEﬁTTIé%I
(A) True Bank (A) w== aﬁ
(B) Good bank (B) 3= &
(C) Bad Bank (C) E@TE % Bl
(D) Centre for Monitoring Indian Economy AP) I 3tefsgaen fimoH) g }EI%%
55. CPU stands for 55, CPU I ¥aeid &
(A) Central Processing Unit FA) Hge SR g
(B) Computer Preprocessing Unit (8) a:,q:a R ‘If"ﬁ
(C) Central Preprocessing Unit (C) quﬁz
(D) Computer Processing Unit (D) W;ﬁ-@ﬁq qﬁz
W
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58

5.

60.

61.

62.

63.
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The layer of the atmos
layer is situated ?

(A) lonosphere

(B) Troposphe
(C) Thermosphere Posbnere

(D) Stratosphere
The ratio of the number of boys and girls in a
college is 7 : 8. If the percentage increase in
the number of boys and girls be 20% and 10%
respectively, what will be the new ratio ?
(A)§21722

(B) 8:9

(C) Cannot be determined

(D) 17:18

When the market price of the goods ‘(p)
multiplied by the firm’s output (q), we ggt

(A) Average revenue & \A‘“&')-

(B) Total revenue Y

(C) Marginal revenue
(D) None of the above

If 1 am young’ is written a:i
‘Sheetal is young’ as 614

247 and
and ‘I like

Sheetal’ as ‘5 7 6/, then L i; wgtten - % 3
(A) <) ( m¥#mE

o e ing magnetic
If a magnetic material is hr;a:'wr:ﬁe agneti
susceptibility (X) = .—L t) and type of
magnetic permea_blhty (pr
magnetic material is ) 0, diamagneﬁc.
() Tperneans o e omeenee
Agency to assess the creditworthlness

individual borrowers is ®) CIBIL

B
9.
S fica /' wn 'ek&-o 1
e - s )
_ Qo

AT 7’“@""@

CMMS - 51

36.  3Raa dier g (emEdE) ¥ qd G ST
afomfi fopen e 2
(A) Tarrdied) & v 2(i) % dga
AB) diamdidt ) ur 2(a) & ded
(C) eamrdieh} < um 2(1) % &
(D) Pardieht ) um 2(c) & d&d

12—

r_/’;!(

57. # 10, g & man iR 3w H e @i
15 Y. =ren, s ufvem # gar afw 12 91
wre 3 o aféar g2t i 15 1, =@ |
B3R @ fRa gL @
(A) 3m ()-8
I
58. e i 48 Uid dE—ASH 91
fea R
(A) AT Hed (B) &1v Hew
(C) uwrEfi _p) @HaM HEd

@ Th FHicrs H e i adsfEd i den @
I 7 : 8 B | A TgHi 3k el 1 gEm

S 20% 3R 10% o6 i 2t }, 71 3guma

(A) 21:22 %;%;é

48) 8:9 =

(c) Frutfa 7 foran s wevan

(D) 17:18

60. %%?mu@(p)gunwﬁwﬁvh(q)gﬁm

HA) e TR
T

m
D) 3Iqtia # & =S 7
IR ‘| am young’ A 2@7 3 'Sh@e)tal is
oung’ I @ 1@D31R ‘| like Sheetal’ ‘5@@
%@m%, @l | =t foran s @
(A) 5 - (B) 4

487 (D) 2
62. AR F Yaehia qaid i gaehia gentian
(x) = =1, T A& o qroTeEn () iR
ﬁaﬁuwﬁmw%
(A) 1, TIETHR 48) 0, wfigashia
(C) -1, g fa (D) 2, TegEen
63. AT IURAT 1 IUR a1 F it w0
EIGIAS IR

61.

(A) CABIL AB8) CIBIL
(C) FIBIL (D) MyBIL M %\{s
=
A KT o W
- —9%0 x\°
e = ¢O

Scanned By

S
gannerog,@i‘


https://play.google.com/store/apps/details?id=com.cam.scanner.camscanner.documentscanner

Join Telegram Group "HaryanaJobs.in" CMMs — 51

64.  Which of the following is not an agency ¢ (A) mawfﬁrﬂ‘l hat .
socialisation ? (B) @qﬂaﬂ 5’[' E
(A) Peer group () witerd 2 Y0
(B) Family ;
(C) Shopping 2

(D) Books

. sagh TR 4 A3 |A By,
° £, BFH R, Wg CH AR 3R A p

' ight of
65. Five boys are sitting in a row. A is on the rig

B, Eis on the left of B, buttotherlghto.fc.llf_f is %aﬁ%,ﬁ’mwﬁﬁ?a?ﬂ% 2
on the left of D. Who is sitting in the middle (A) A (B) E
(A) A (B) E (C) B (D) ¢
C) B (D) C
() ithe 66' 3;W%A;BrciDlE3ﬁ-{F%lctFﬁW%|

66.  There are six persons A, B, C,'D, EandF. Clsthe BEFUREFIER I D, AdH A 3 F 7 2
sister of F. B is the brother of E's husband, D Is ’ 91 e, i o @TWW% £3
father of A and grandfather of F. There are two ki 31 14T, |'F,
fathers, three brothers and a mother In the g TR et @ 7
group. How is F related to E ? (A) Eﬂ (B) =T
(A) Daughter (B) Uncle (D) T
(C) Son (D) Husband (R

67. comprisesaset of several routines 67, BN "anavsid, ROM & sfi 3 U 3R AR
and start-up instructions inside the ROM. (Eli-aﬂq) 313%5'?[ 1 T =g S § |
(A) Basic Input Output System (BIOS) A&) aﬁﬁw 313eyYe fem (BI0S)

(B} Universal Serial Bus (USB) (B) WWW(USB) 1
(C) Expansion port (C) ﬁwrm‘ﬁi s £+ =
(D) Port ' (D) 4K -,-z)—%q_‘;c\
68. The value of 15C3 + 15(213 is 8. ) 15‘(:3 + _15(;13;[ a4 2
15 15
(A) Co (B) C. (A) 15Cm AB) 15C15
16 30
() *c, (b) “c (© *c, (D) *c_

69. The developing embryo will also generate 69. faFmyfie U1t Ifdre geref WW% St
waste substances which can be removed by ¥ ATy ¥ I R
transferring them into the mother’s blood —  HI¥H 4 97 & @@
through the S BT ST |ept © |
(A) Uterus (B) Placenta R) Tferr (B) 31qT
(C) Anus (D) Urethra (©) T J%) .

70.  Find the missing number. @ Wﬁ@lmﬁ |

9 |19 QR0
TSR 9 |19
[y m
75
£ (8) 297 146| 75
(A) 299 2 '
~(C) 300 (D) 298 (A) 299 (B) 297
Pk 5l (C) 300 (D) 298
W |

+10.
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combination is R’ ;
- then the ratio R/ i

(A) 5 B) 1/ "
c ()/25
”Vs (D) 25
The

is a system that provid
' ’ es a
simple a-nd consistent Way to organize large
data available on the Internet, :

(A) Web site (B) Web browser
(C) Hypertext (D) Web server

In the following series, how many such odd
numbers are there which are divisible by 3 or
5, then followed by odd numbers and then
also followed by even numbers ?

12,19, 21, 3, 25, 18, 35, 20, 22, 21, 45, 46, 47,
48, 9, 50, 52, 54, 55, 56
(A) Three

(C) Two

(B) Nil
(D) One

The practice of assessing a culture by its own
standards rather than viewing it through the
lens of une’s own culture is called

(A) Both (B) and (C)

(B) Cultural relativism

(C) Cultural imperialism

(D) None of the above

Satellite Mission — TRISHNA s for

(A) Eco-system stress and water use
monitoring

(B) Pesticide monitoring ,

(C) Ecological balance monitoring

(D) None of the above

Which is the famous work of Pliny ?
(A) Si-Yu-Ki

(B) Natural Historia

(C) Periplus of Erithrean 5ea

(D) Indica

g
R

tomorrow, Rs. 4 the

5.2
If you save Re. 1 today, R our total savings In

next day and so on, then Y
two weeks will be
(A) Rs. 16,383
(C) Rs. 16,300

() Rs. 18,300
[D) None of these

)
-11- ®l /l “’!]3.‘1"}(

71,

72,

73.

74.

75.

76.

77.

CMMS —S1

Sy R are o A o gl ute wE T 3
61T T B ) R A T R wETe d SisT TE R |
ufe 7@ it 1 g whedw R R, @ RE,

ERRInH
(A) 5 A48) Y
(C) % (D) 25
‘ T YOITeft @ S 320 T ITeds
T2 kel o Uh W 3 i srafeem Fd
&1 Tlleh1 Iuctey U 2 |
(A) 391 | _B) 9 S
(C) TEYRL (D) <= gat

P si@en #, et frm g £ 9
371 5@ fawreg € ofi e g farm g &
A% IR T EEA1E 7 &
1%, 18,21, 3, 25, 18, 35, 20, 22, 21, 45, 46, 47,
48,9, 50, 52, 54, 55, 56

a

@B (B) rd T
(=R (D) T

R & depfa A T JEE TR F T9E
IG% @4 F HEH! g0 EATEA T & T91 FH
HE A |

AA) (B) 3T (C) A

(B) WREFfoeh WTaEFATETS

(C) Wi TR
(D) IqUe & | w1 T
IMEWEE-TRISHNA @R
An) Titfefesh € gea iR e e
(B) eaTef fAme

_ (c) witfeufofr wgem fFroeht

(D) I90F o | d 7

et AR st ?

(A) fa-3-F%

(B) T f&

) Yt 31 TR W

(D) sfes

7R 39 3T 1T 99 3, @ 5 %,
gqﬁs.aﬁnssﬁmﬁmmm%a;g

(A) . 16,383

[T (B) %. 18,300
(C) ® 15

ADY T @ i 7
W

VB T A R

16 3% ‘4
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S
- erson, entru i
is where a p priates

any property, dishonestly misappro. es
any property, or dishonestly uses o d.|sp0§
of that property in violation of any direction
of law or contract or wilfully suffer any other
person to do so.

(A) Criminal breach of property

(B) Cheating

(C) Trespassing

{D) Criminal breach of trust

Inthe

_Usenet newsgroups and
electronic mail (e-mail) came into picture.
(A) 1980s (B) 1970s
(C) 1990s (D) 1960s

Which pattern most closely resembles the
following pattern ?

)
QQ

(A) (8)

(©) 0\ Y

Where is the International Court of Justice {icl) ?
(A) China (B) Hague
(C) Paris (D) New York

The Reserve Bank has introduced banknotes
in the Mahatma Gandhi Series since
(A) 1996 (B) 1951

(C) 1974 (D) None of the above

How many Schedules are there in IT Act 200
(A) 6 (B) 3 2

(C) 2 (D) 4 o

A copper wire is bent in the shape of &) [ﬂ
a square of area 81 cm?. If the same
wire is bent form of a semicircle, the

radius (in cm) of the semicircle is

(Take n= B—)
7

(A) 10

(B) 16
(C) 7

(- (D) 14

~12.

g T & TR IR R, Rl e iy
78 e e R, AR A oy @jm’m
a3, A & I8 HOR R 3y e
me;lﬁW“i?%ﬂgﬂmm
=
m%munﬁ_amén i e
A) TR 1 STH ST
(B) @ &
(C) =T
(D) amqufieh faamaETd
LI SR UG R o
7 e fa@A & |
(A) 1980s AB) 1970s
(C) 1990s (D) 1960s
0. @m-a1 ded Frfafad e @ siftemm g
TR ?
d
@O

(a) (B)
A49) 0 \Q Y

81. IO RO (1C)) el W R 2 ?
(A) ==

.AB) T
(C) Ui (D) :En%
82, ﬁﬁﬁﬁ?e{qglﬂlﬂi‘%ﬁﬁﬁal'ﬁ%ﬂaﬁﬁm
T g ?
(A) 1996 (B) 1951
AC) 1974 (D) SRR & & 1S T
83. Jfﬁwﬁrﬁmzoooﬁﬁmﬂﬁqﬁﬁﬁ?
(Cg g (B) 3
(D) 4
84, Wﬂﬁ%m‘oﬁglc 2
m2 &k 9Tt o &
mﬁ%w% | R Teft o FTEE
ah t[hm:g TR e
(A) !
10
2 gEE
OO
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E\‘DlUﬁDn of dj

geographica| are?a;z:ﬁ Species
Iitere?lhr radiaﬁng ¥ wih Ng from
(habitats) is cajlaq er areas
(A) Adaptive breegjn

(B) Adaptive euulutigi

(C) Adaptive radiation

(D) None of these

N a given
4 Point ang
of Eeﬁgraph,;

,;.;;:;I:J;. 86 - 88 : Reaq the following

aL el ;r;su&e;the questions given below
il tJh e*::éntre. andSare sitting around a circle
N, who is third
of Rand M,

S is the nej
right of M.
L is not the nei
left of N,

tothe left of P, is not 3 neighbour
ehbour of O and R and is third to the

ghbour of 0, who is second to the

Which of the following is the pair of adjacent
persons ?

(A) Land P
(C} Oand M

(B) Mand N
{D) MNone of these

87. What is the positionof Q ?
{(A) Third to the right of M
(B} Immediate right of R
(C) Second to the left of S
(D) Immediate left of N

i ' iti hen
If N and O interchange their positions, t
which of the following will be the correct
statement 7
0 is between L and Q ,

0 EE‘; 5 is on the immediate right of N

Z= (C) Nis between Land Q .

(D) Ris second to the right o

ral Bank of a country

CcMMS — 51

. "
85, Tt fiz A sy A U R e e &
%ﬂmﬁﬂ%mmW{M}%
e 1 & 3 e _FEAI R |
ﬁ% (A) Sgepeft ¥

\4f) sred) o
(C) argapet farfeptar

(D) gl & = el
v .. 86 - g8 : Preffaa ga @ 1o AR
fow mu Wl & g i |
L LM, N, G, P, Q, R3S ¥R i gE T T
qEUASE |
I, N,GﬁP#miFﬁHﬂ%.RﬁEMH@ﬁTqﬁ%l
I, s, 03t Ra TR B Al M T T R |
v, Lo S wE 2, s NFad gt

g6, Frofofaa i a FH-u SEA ARAI FFAE ?

AR Lsinp

(C) O 3fz-Mm

87. qfifefaFng?
o st e
5 R and
/ﬁsﬁﬁgr‘gim
B N g and
g8, AR N 3R O I wH 9 H Sed o €, @
Feffaad e s-mrsmam g ?
eAR) D,Laﬁmﬁaaﬂai%
(B) 5, N o gta grd &
(@ N, LRQFSEE T
() R, Q¥ e @

89. = < o w frdlh o = S A (v T

(B) M3TTN
(D) ¥ & =g 7

ich the Cent ) o ) Tl oft et ) Frfr f o
The rate atwhicht .2\ |ends money to ! 3
(Reserve 'Sfer‘:nkifmlphd;guent“fa"ﬁhnrtfa" i%ﬁh%ﬁ i =) gl F 2

mercl

E?Ends is refers to ) Wt =

A) Bank raté ) P W =

B R te Reporate (D) vt # 2 4

he abo :
(D) None© o number o p?mces into | 90, gﬁtﬂi 13%;@@%%@
. I Oehedl
0 wna; Is zzzenlan be cut tgglii:““ ) 150 * J@ i
hich 2
(c) 100 44
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English Language

i s from
Fill in the blank with appropriate word

the alternatives given below them.

You can go you like.
(A) Whither AB) Where
(C) Whence (D) Wherever

G ve one-word substitute for the following.

“cyond the power or laws of nature.
\A) Surmise

(B8) Superlative

(C) Superfluous

(D) Supernatural

In the following question a sentence has been
given in Direct/Indirect Speech. Out of the
four given alternative, select the one which
best expresses the same sentence in Indirect/
Direct Speech.

“Call the first witness”, said the Judge.

(A) The Judge commanded to called the first
witness

) The Judge commands to call the first

witness

(C) The Judge commanded to call the first &\\
witness 15) )

(D) The Judge pleaded to call the ﬁr‘t ‘2‘
w:tness

-~

SAne S

--:

&
ghtgynonym of h -
t_h

Choose the

=y

in mpital Ie

B e e A
alter atives given

96 W*W”Wﬂm

rd given _‘_

“_Tm um glﬂ ﬂ:n mm,n

TTruavig — Q1
Rt ST
fare |

() &
(D) 37 & IS T

ﬁqﬁﬁ%ﬁmﬁﬁﬁﬁawﬁaﬁmm
_ wEdWd

98.
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